
Math 110, 111 Practice Quiz # 4 – Sections 2.5 - 2.7
Relations and Functions, Function Notation and Evaluation, Function Analysis

1. Use the given description to write a set of ordered pairs. The first coordinate is the (integer) number of hours driven in a day (up to 6). The second coordinate is the distance traveled at 60 miles per hour.


2. Determine whether the following represents a function.

a. (3, 4), ( 4, 3), (5, 5)



b. (2, 3), (5, 4), (2, -3)



3. Find the domain and range of the relations in problem (2) above. 
In problems 5 and 6, evaluate the given function as indicated.
4. f ( x ) = 3x - 2
g( x ) = 
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a. f (2)

c. f (0) + g(2)

e. f(a)
      
g. x, if f(x) = 10

b. g( -4)

d. g(4) – f (1)
f.
 f(a + 3)  
5. h (x) = (2x2 -3x) – (4x – 1)
a. h ( 0 )



c. h ( 2w )


b. h ( -1 )


6. The average number of hours of TV watched per day (T) is a function of a person’s age x, and is given by T (x) = -0.2x + 10. What is the average number of hours of TV watched per day if a person is
a. 20 years old?

b. How old is a person who watches 2 hours of TV per day?

7. Use the integer setting to graph f ( x ) = 0.5x + 4. Then use the graph to estimate
a. The x-value if f ( x ) = -4.


b. The value of f ( x ) if x = -2.


c. The x-intercept. Round your answers to the nearest tenth.
d. The y-intercept.



8. The store you work at has a cash register that is programmed to add an 8.25% sales tax to the price of any item. The total cost C is then computed by C ( x ) = x + 0.0825x = 1.0825x.

a. Describe the shape of the graph.


b. What is the total cost of an item which sells for $5.00?


c. What is C ( 4 )?


d. Calculate 
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e. What does the expression in part d represent?


f. If you only have $50 to spend, what is the highest priced item you can buy?
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